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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two
sentences.        (1x10=10)

ç'u 1- izca/kdh; ys[kkadu dh fopkj/kkjk ds izorZd dkSu gSa\

Who is the originator of  Management Accounting concept?

ç'u 2- iwath nUrhdj.k vuqikr dk lw= fyf[k,A

Write formula of  Capital Gearing ratio.

ç'u 3- dks"k izokg fooj.k esa] dks"k dk vk'k; D;k gS\

What is meant by FUND, in Fund Flow Statement?

ç'u 4- ys[kkadu ekud 3 ds vuqlkj jksdM+ izokgksa dk eq[; oxhZdj.k nhft,A

Give major classification of cash flows as per AS-3.
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ç'u 5- ^izeki ykxr fof/k^ ls D;k vk'k; gS\ blds ykHkksa vkSj iz;ksxksa dh foospuk
dhft,A

What is meant by 'Standard Costing'? Discuss its advantages and
applications.

OR

,d ihry ds <ykbZ dkj[kkus esa izeki feJ.k esa 60% rkack o 40% tLrk
gSA mRiknu esa gkfu izeki buiqV dk 10% gSA ,d ekg ds okLrfod
mRiknu ls lkexzh ykxr fopj.kka'k dh x.kuk o fo'ys"k.k dhft, %

rkack 25 fd- xzk- nj 15 izfr fd- xzk- ¼izeki 30 fd- xzk-½

tLrk 25 fd- xzk- nj 10 izfr fd- xzk- ¼izeki 20 fd- xzk-½

okLrfod mRiknu 43 fd- xzk- lkexzh ds izeki ewY; (SP) rFkk okLrfod
ewY; (AP) esa dksbZ varj ugh gSA

In a brass foundry, the standard mixture consists of 60% Copper and
40% Zinc. The standard loss of production is 10% of input. From the
actual production in a month calculate the material cost variance and
analyse it :

Copper 25 kg @ Rs. 15 per kg (Standard 30 kgs.)

Zinc 25 kg @ Rs. 10 per kg (Standard 20 kgs.)

Actual output 43 kg. There is no difference between SP and AP.

---x---
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ç'u 5- foHksnkRed ykxr ls D;k vk'k; gS\

What is meant by differential cost?

ç'u 6- ykHk-ek=k vuqikr D;k gS\

What is P/V Ratio?

ç'u 7- jksdM+ ctV D;k gS\

What is Cash Budget?

ç'u 8- 'kwU; vk/kkj ctVu rduhd fdlds }kjk fodflr dh xbZ Fkh\

The technique of  Zero Base Budgeting was developed by whom?

ç'u 9- izeki ykxr D;k gS\

What is Standard Cost?

ç'u 10-Je fuf"Ø; le; fopj.k dk lw= fyf[k,A

Write formula of Labour Idle Time Variance.

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (5x5=25)

ç'u 1- izca/kdh; ys[kkadu ykxr ys[kkadu ls fdl izdkj fHkUu gS\

How does Management Accounting differs from Cost Accounting?

OR

fuEufyf[kr lwpukvksa ls pkyw lEifÙk] rjy lEifÙk vkSj Lda/k Kkr dhft,:

Calculate current assets, liquid assets and stock from the following :

pkyw nkf;Ro (Current Liabilities) Rs. 30,000

pkyw vuqikr (Current Ratio) 2.25 times

rjy vuqikr (Liquid Ratio) 1.25 times

¼3½ ykHk dks 10]000 : ls c<+kus ds fy, fdruh vfrfjDr bdkb;ksa dh
vko';drk gksxh\

(What additional units would be necessary to increase the profit
by Rs. 10,000?)

ç'u 4- mÙkjnkf;Ro ys[kkadu ls vki D;k le>rs gSa\ blds eq[; y{k.kksa dk o.kZu
dhft,A

What do you understand by 'Responsibility Accounting'? Discuss its salient
features.

OR

,d dkj[kkus esa 5]000 bdkb;ksa ds mRiknu ij ctVsM O;; uhps fn;s
x;s gSa %

The budgeted expenses for production of 5,000 units in a factory are
given below :

   izfr bdkbZ (Per unit) Rs.

lkexzh (Materials) 35

Je (Labour) 15

ifjorZu'khy mifjO;; (Variable Overheads) 10

LFkk;h mifjO;; (Fixed Overheads) Rs. 40,000   8

ifjorZu'khy O;;-izR;{k (Variable Exp-Direct)   5

foØ; O;; (Selling expenses) 20% LFkk;h (Fixed)            8

iz'kklfud O;; (Administrative Exp) Rs. 20,000   4

forj.k O;; (Distribution Exp.) 30% LFkk;h (Fixed)   5

     Rs.   90

iz'kklu O;; mRiknu ds lHkh Lrjksa ij leku jgrs gSaA ;g ekurs gq,

¼v½ 4]000 bdkbZ vkSj ¼c½ 3]000 bdkbZ ds mRiknu ds fy, ,d ctV rS;kj
dhft,A

Prepare the budget for production of  (a) 4,000 units and (b)  3,000
units. Assume that administration expenses are rigid for all levels
of production.
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ç'u 2- dk;Z'khy iwath esa ifjorZu ds fooj.k dk uewuk nhft,A

Give the specimen of changes in working capital.

OR

jksdM+ cgko fooj.k D;k gS\ blds eq[; mi;ksx rFkk lhek,¡ crkb;sA

What is Cash Flow Statement? Discuss its main uses and limitations.

ç'u 3- lhekar ykxr fof/k dk vFkZ rFkk fo'ks"krk,¡ crkb;sA

State the meaning and main features of marginal costing.

OR

,d dEiuh viuk mRikn 15 : izfr bdkbZ dh nj ls csprh gSA
,d vof/k esa ;fn og 8,000 bdkb;ksa dk mRiknu vkSj foØ; djrh gS rks
5 : izfr bdkbZ dh gkfu gksrh gSA ;fn ek=k 20,000 bdkb;ksa rd c<+k nh
tk, rks ;g 4 : izfr bdkbZ dk ykHk vftZr djrh gSA :i;ksa vkSj bdkb;ksa
nksuksa esa lefoPNsn fcUnw dh x.kuk dhft,A

A Company sells its product at Rs. 15 per unit. In a period, if it
produces and sells 8,000 units it incurs a loss of  Rs. 5 per unit. If
the volume is raised to 20,000 units, it earns a profit of  Rs. 4 per
unit. Calculate break-even point both in terms of rupees as well as
in units.

ç'u 4- ctV dk le;] dk;Z rFkk yksp ds vk/kkj ij oxhZdj.k dhft,A

Classify the budgets on the basis of time, functions and flexibility.

OR

ctVjh fu;a=.k ds mn~ns';ksa dks crkb;sA

Discuss the objectives of  Budgetary Control.

ç'u 5- izeki ykxr fof/k ds ewy RkRo D;k gS\

What are the salient features of standard costing?

ç'u 3- vk'kh"k m|ksx fyfeVsM dfBu le; ls xqtj jgh gSA bldh izfr bdkbZ
mRiknu ykxr 10 : gS tcfd foØ; ewY; 9 : izfr bdkbZA dEiuh orZeku
esa 10]000 bdkb;ksa dk fuekZ.k ,oa foØ; dj jgh gS tcfd bldh mRiknu
{kerk 40]000 bdkb;k¡ izfro"kZ gSA

bldk orZeku ykxr <kapk fuEu izdkj gS % fLFkj ykxrsa 30]000 :(
izR;{k lkexzh 30]000 :( izR;{k Je 20]000 : ,oa ifjorZu'khy ykxrsa
20]000 :A

dEiuh ds ikl 10]000 vfrfjDr bdkb;k¡ 8 : izfr bdkbZ dh nj ij
cspus dk fodYi gSA D;k fodYi Lohdkj djuk pkfg,\

Ashish Industries Ltd. is passing though difficult time. The cost of
production of company is Rs. 10 per unit, while selling price is Rs. 9 per
unit. Still company is in a position to sell only 10,000 units per annum.
Production capacity of the company is 40,000 units.

The present cost structure is : Fixed overheads Rs. 30,000; Direct
materials Rs. 30,000; Direct Labour Rs. 20,000 and Variable overheads
is Rs. 20,000.

Company gets on offer to supply 10,000 additional units @ Rs. 8 per
unit. Should the offer be accepted?

OR

fuEu lwpuk,¡ miyC/k gSa %

The following informations are available :

LFkk;h ykxr (Fixed Cost) Rs. 25,000

ifjorZu'khy ykxr (Variable Cost)    Rs. 20 ¼izfr bdkbZ½ per unit

foØ; ewY; (Selling Price)    Rs. 30 ¼izfr bdkbZ½ per unit

fuEu dh x.kuk dhft, (Calculate the following) :

¼1½ ch-bZ-ih- bdkbZ;ksa esa (B.E.P. in units)

¼2½ 25]000 : ykHk vtZu ds fy, foØ; dh ek=k

(Sales Volume to earn a profit of  Rs. 25,000)
P.T.O.
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OR

,d oLrq dh ,d bdkbZ ds mRiknu ds lEcU/k esa fooj.k fuEu izdkj gS %

The following are the particulars relating to the production of one
unit of  a product:    okLrfod       izeki

      (Actual)           (Standard)

?k.Vk ¼izfr bdkbZ½       15 10
Hours (per unit)

etnwjh nj ¼: izfr bdkbZ½       15 10
Wages rate (Rs. per unit)

Je ykxr fopj.k ,oa blds dkj.kksa ds fopj.k Kkr dhft,A

Find out Labour Cost Variance and its causation variances.

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (8x5=40)

ç'u 1- izca/kdh; ys[kk fof/k ls D;k vk'k; gS\ blds eq[; ;U=ksa ,oa rduhdksa dh
foospuk dhft,A

What is meant by Management Accounting? Discuss its main tools and
techniques.

OR

,d dEiuh ds foÙkh; ys[kksa ds dqN lead fuEu izdkj gS %

Some data of financial accounts of a company are as follows:

        :-(Rs.)

okf"kZd fcØh (Annual Sales)            2,00,000

fcØh ij ldy ykHk dk izfr'kr (% of Gross Profit on Sales)             16%

vkSlr Lda/k (Average Inventory)                                                14,000

pkyw nkf;Ro (Current Liabilities)                                                 16,000

pkyw vuqikr (Current Ratio)                                                       250%

vafre Lda/k (Closing Inventory)                                                  12,000

izkI; vUr esa (Trade Receivables at the end)                               24,000

mi;qZDr lwpukvksa ls fuEu vuqikrksa dh x.kuk dhft, %

From the above informations, calculate the following ratios :

(a) Lda/k vkorZ (Inventory Turnover)

(b) O;kikfjd izkIr vkorZ (Trade Receivable Turnover)

(c) vEy ij[k vuqikr (Acid Test Ratio)

(d) py lEifÙk vkorZ (Current Assets Ratio)

ç'u 2- dks"k izokg fooj.k D;k gS\ blds izcU/kdh; mi;ksx dk ijh{k.k dhft,A

What is a Funds Flow Statement? Examine its managerial uses.

OR

fuEufyf[kr lwpuk ls jksdM+ izokg fooj.k i= rS;kj dhft, %

Prepare Cash flow statement from the following informations :

                    :- (Rs.)

izkjfEHkd jksdM+ 'ks"k (Opening cash balance)                             4,50,000

vfUre jksdM+ 'ks"k (Closing Cash balance)                                     88,800

o"kZ dk 'kq)ykHk (Net profit for the year)                                   1,00,000

nh?kZdkyhu _.kksa dk Hkqxrku (Repayment of long-term loan)    15,00,000

LFkk;h lEifÙk;ksa dk foØ; (Sale of fixed assets)                      9,00,000

nsunkjksa esa o`f) (Increase in debtors)                                          40,500

ysunkjksa esa deh (Decrease in creditors)                                      28,700

LdU/k esa deh (Decrease in stock)                                            2,40,000

xSj-lapkyu O;; (Non-operating expenses)                              1,25,000

xSj-lapkyu vk; (Non operating income)                                    30,000

vk;dj dk Hkqxrku (Income tax paid)                                       1,27,000
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